06939 5 ¥ F Y42 SIS RIBE

7= miiEA

M
4R&IEREE EN AW-6060,
RERAMRICFEZH |, RIEBREEE,

K
EEEEHACHANREL  EEFRWRERRE |, B6,
BR:
EERBIENARPERAIRE MY S, BARER , ]a8kE M
MAEB EBEWES.
FEft T BEESETIRS U RMEEERN 2B RS,
K
FEZRE,
A+ 25mm |
|
A 1
N
S
S
A B
- L - M
- A + 40mm ____JI
32
, J 9
—
S P — 1
i T 3
| S

#30x1,5
@| |
k=

© norelem www.norelem.com




06939 5 ¥ F Y42 SIS RIBE

06939-150203 BRE A 150 32 M5x20 55,5 184 1000
06939-200203 BRE A 200 32 M5x20 55,5 234 1000
06939-300203 BRE A 300 32 M5x20 55,5 334 1000
06939-400203 BRE A 400 32 M5x20 55,5 434 1000
06939-500203 BRE A 500 32 M5x20 55,5 534 1000
06939-150202 26 A 150 32 M5x20 55,5 184 1000
06939-200202 ) A 200 32 M5x20 55,5 234 1000
06939-300202 26 A 300 32 M5x20 55,5 334 1000
06939-400202 26 A 400 32 M5x20 55,5 434 1000
06939-500202 2E A 500 32 M5x20 55,5 534 1000
06939-150302 26 B 150 48 M8x25 80 200 1000
06939-300302 4 B 300 48 M8x25 80 350 1000
06939-400302 26 B 400 48 M8x25 80 450 1000
06939-200302 26 B 200 48 M8x25 80 250 1000
06939-400303 BRE B 400 48 M8x25 80 450 1000
06939-500303 BRE B 500 48 M8x25 80 550 1000
06939-300303 EESE B 300 48 M8x25 80 350 1000
06939-500302 26 B 500 48 M8x25 80 550 1000
06939-150303 BRE B 150 48 M8x25 80 200 1000
06939-200303 BRE B 200 48 M8x25 80 250 1000

© norelem www.norelem.com




